Mech -2

Consider tne diuplacement of the
cutting tool  from  (0,0) to (3-6,36)m.
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where the (ne element
d¢ - dxe, +dyey.

Since there't no force tn the &y du?
the tegrand becomes, along path x=Y,
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from y,=0 > Y2 * 3:60m, the wark done
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e work done along the tine Yy=x (¢ W=-1013 .
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bY  the too) U maved along @, then
along &y, as per the figure below
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Along ?Q_,(, tne force s perpendeculer
along the duplacement at every pont,

So thefe f no work done,

Alang é_g) F.df = - axa’dq , the Work done ¢
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The work done. along the x-axtf 4 0J-
The wolk done along €y (s —13¢T .

c) tne woflk done along the Ewo Pafhl
(s difgetent (despite Stacting &ending
et tne game pont) o the farce y _
noN-conservative .
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